

$$6\frac{8}{10} + 8\frac{1}{5} =$$

$$4\frac{1}{7} + 5\frac{7}{8} =$$

$$\frac{9}{10} + \frac{2}{8} =$$

$$7\frac{8}{9} + 11\frac{9}{10} =$$

$$10\frac{5}{6} + 7\frac{1}{5} =$$

$$\frac{6}{3} - \frac{5}{10} =$$

$$12\frac{3}{9} + 7\frac{3}{9} =$$



$$6\frac{8}{10} + 8\frac{1}{5} = 6\frac{8}{10} + 8\frac{2}{10} = 14\frac{10}{10} = 15$$

$$4\frac{1}{7} + 5\frac{7}{8} = 4\frac{8}{56} + 5\frac{49}{56} = 9\frac{57}{56} = 10\frac{1}{56}$$

$$\frac{9}{10} + \frac{2}{8} = \frac{36}{40} + \frac{10}{40} = \frac{46}{40} = 1\frac{6}{40} = 1\frac{3}{20}$$

$$7\frac{8}{9} + 11\frac{9}{10} = 7\frac{80}{90} + 11\frac{81}{90} = 18\frac{161}{90} = 19\frac{71}{90}$$

$$10\frac{5}{6} + 7\frac{1}{5} = 10\frac{25}{30} + 7\frac{6}{30} = 17\frac{31}{30} = 18\frac{1}{30}$$

$$\frac{6}{3} - \frac{5}{10} = \frac{60}{30} - \frac{15}{30} = \frac{45}{30} = 1\frac{15}{30} = 1\frac{1}{2}$$

$$12\frac{3}{9} + 7\frac{3}{9} = 19\frac{6}{9} = 19\frac{2}{3}$$

